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1. Carefully cut a mask out of thick card 10cm square with a 8cm square hole cut from the middle. Make sure this is square

2. Add a strip of blutak or sellotape along the bottom (this is to help it drop squarely)
3. Find the mass of the cardboard mask using scales (ensure this is in base units!)
4. Set up the ALBA to measure speed with a set of light gates hanging over the edge of the bench.
5. Enter the width of the BOTTOM part of the square, this ought to be 2cm

6. Measure the height of the drop (start with 1 m, measured with a metre stick)
7. Carefully release the mask and make sure it drops through the light gates squarely and without getting knocked

8. Calculate the Ep and Ek using the data. (if possible write an excel sheet with formula to calculate these values for you)
9. Repeat for different heights
10. Write out your conclusions 
Energy Conservation

Energy cannot be created or destroyed we can only transfer it from one place to another. When we drop an object the GRAVITATIONAL POTENTIAL ENERGY is converted to KINETIC ENERGY, provided there are no losses due to friction.


[image: image2.wmf]gh

v

v

gh

v

mv

2

2

gh

giving

mass

 

of

t 

independen

 

is

 

landing

on 

 

speed

 

the

 that 

indicating

 

cancels

 

m

 

the

mgh

gained

Ek 

 

lost 

 

Ep

2

2

2

1

2

2

1

=

=

=

=

=


When cars go up a hill, they convert their potential energy in the fuel to kinetic energy in making the car move which increases their potential energy up the hill. At the top of the hill the potential energy is high. This can become kinetic energy if the car is left to go as fast as possible, or if you go down on your brakes some of this potential energy is converted to heat due to friction in the brakes. Notice we never made energy we just moved it around!
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